Topic:- General Hindi

1) f5a o5 & TS TRUH 28 AETE et § SR 3T # o7 3R fiF= 1% avf sra=g gTaRT |
S9H gfc 16 9YUT 12 AT S I gl 2

1. g B
2. MfdwI <

3, IcaTdll
4, el

Correct Answer :-

. i o<

Correct Answer :-

. -t

3) ENROLMENT’ UTRYT® e HEd §:
1, FHB

2. HIlch



3. ATHIGA

4, AHIH

Correct Answer :-

4) '3 TIT A 1 V15 3
1. IR

2. A

3. BT

4, TS

Correct Answer :-

5) I BT ATH Jarsil:

ST & g T9 3N BIY | e il
9 M U1 YAHR Had JId Ha- Tl
TR ¢W 39 §HNR X ¥ § gd Us!

$d U g UIYUN §1 U ISHR TS!!

1. 1Y

2. 4R

3. 3% X9

4, HYHh X{

Correct Answer :-

6) HeIqur & forg st § o 3w

1. Mfaf, siferst, Tamalt Sk auf 3fe &1 gurad §-TY a1 AR Tl
2. fofRm, siferst, Tigmail ofR aal SM1fe ) gUTad S T AUl

3. Tl sifas!, damell 3R T2 3M1fe BT uRafdd H==1 a1l

4. fafay, siferet, foparatt oik auat onfe P guraq §-TT W= =nfRu|

Correct Answer :-



. faf, sifers!, dxsil 3Tk a2l oife & gUTad ST a1 1|

7) Heur & forg st 3 for a:
1, et TR, Tgol, ATHRUI-FHd T WY U H U 5l |

2. Y, TR, TEof, HTHRUI- S U T I T H&U1 U 1 Anigu|

3. eft, TR, ST, TTHRUI-THT TUT ST U H Y& TRd =1 1gu|

4, TR, HISH, TS, ATHRU-THI TUT WY HTH F HET0T U DT AT

Correct Answer :-

. e, TR, TE, SATHRU-GHId qT T U H URd 3l |

8) 3EIPR BT ATH TAT3HI:

R SHUPR g, T WL TR T,
3TST GR-ER W g fear gt 181
gg ety o1 femr e a1 g 811
1. 3T SADR

2. 3G SABR

3. U8 HAPR

4, AN SIdBR

Correct Answer :-

. 3Ifaa 3B

Correct Answer :-

. iRl SiPR



10) ‘g & fIdiy W= B:
1, 3w
2. 3fATpT
3. Mo

4. fagom

Correct Answer :-

11) <3[Ue 3R 3’ T FT 31 82
1. e MR ok g

2. SRATSIT el TR axarell

3. AT AR SR el

4, AR 3R T

Correct Answer :-
. TS IR qE
12) “THHP’ URADT FET A YHIRE g 82
1. TEAGR
2. AT
3. Y@
4, YU

Correct Answer :-

13) ‘ggHT TIRYIR® sk Ped ¢:
1. MEJORITY

2. MAJORITY

3. MAJORETY

4. MAJORITI

Correct Answer :-

« MAJORITY



14) Hera TRUIN® T wgd %
1. FACALTY

2. FACULTI

3. FACULTY

4. FECULTY

Correct Answer :-

« FACULTY

15) @IS MR @R &1 A B:
1. SUGFR 3R Y&

2. SUETR 3R THDH

3. SIS A Jad BT 3R 81

4, TADI 3R FH

Correct Answer :-

« SUHRR 3R THD

16) fpar o1 yufdar gdsE?
1. HAR

2. TR

3. DI

4. T8

Correct Answer :-

17) <3@RIY 3R HfaRrer BT 37k a2
1. e 3R et

2. A% SR AR

3. AP IR T

4. A R R

Correct Answer :-



18) ‘P YT A S WS 8:
1. BlAD
2. TP
3. 9%
4, DD

Correct Answer :-

19) “FIUNR’ § D19 A1 THH 22
1. Ig>Y IHY

2. FHYRY GHANY

3. 48 99

4, fgramg

Correct Answér -

. HHYRY JHY

20) <3RT H HY STAAT YaTar o7 314 3:
1. 1Y HSDHH

2. 1% icl AT

3. BIY YpTeT

4, 1 BT

Correct Answer :-

o BIY YSHHT

21) <3re BT Y 8-
1. 378 4 B a1

2. Ug, A M, 3ed

3. Udd, Tidg H, $fcd
4, AT, T, 3fcd



Correct Answer :-

22) “HIFA—THTS BT RIS AU FT gRM?
1, g BT JHTS!

2. I R THTS

3. “Uifgd & GHTS,

4, e T AN

Correct Answer :-
23) GA-GEA HeTa¥ &1 34 &:
1. X I BH ST
2. Y- g
3. Y- i & g
4, Wrafia g

Correct Answer :-

o Hgfia g

24) FATEIB] 3MUP fore’ UieT Hal A USRI sidl 82
1. AR

2. TG

3. TMSIgR
4, YIaTd

Correct Answer :-

25) T T P T8I SIA1?’ 5T 919 B APRIHP a1 § JEfoTu;
1. T T RIS Bt 82

2. TIeT  TT S B |

3. Tiem aHt T S0 B



4. T3em I gt B S T8 AT g

Correct Answer :-

. WA II S G|

26) ‘He1’ T UATgaTd FaT3il?
1. IR

2. IR

3. TR

4. YfHeT

Correct Answer :-

27) G BT ARG faUg F1 g2
1. 39 § g foraas srufq o

2. THHE B Sl

3. 9 Q@

4. qP 4@

Correct Answer :-

. T T W e fiq raur
28) <3P BT 3 B:

1. 1, TSI, SRS

2. Y+, TRNT, ARSAT

3. O, TioH, Y

4, Y, TS, SARSAT

Correct Answer :-

29) Bl AR Bife BT 34 3:
1. TR 3T 3R HHR

2. BT (TP UHR BT 9) 3R o & SHUR Ug-- aTall o



3. fhan IR TRIS

4. T4 AR BT

Correct Answer :-

. foren iR HRIs

30) ‘ARIS’ FT fId9 I §:
1. qoTd!

2. JTorEt

3. Hifd

4, fqest

Correct Answer :-

31) ‘ZI@D B TSI Ieil A RTHEd 82
1. gl

2. I

3. Y3l

4, 391

Correct Answer :-

32) INRAR’ & TSI dicil § T Hgd 82
1. 3fieft

2. FeRI

3. IOl

4, S

Correct Answer :-

. ST



1, I 3R 37
2. 3T 3R SfeqgT
3. 3T 3R 37
4, 31T 3R 37eqg

Correct Answer :-

. 3T 3R 3T

34) 98! fawe garsi:

geaeii SR A FHau T yrai staemr_ F afari g1
1. JHID HIA

2. A PHIHA

3. QU PTd

4, Y& BT

Correct Answer :-

o UdY pIH

Correct Answer :-

« BT 3R T

36) ! fawey gamsi:

BT UG S99 P SABadl R PRIET ST gmmd #Rarg |
1. FRT=IT T VAR RaT & |

2, GURN BT YR FRAT G |

3. TR T IR FRAT § |

4, PIY BT IIR PIATE |



Correct Answer :-

. AT HTFIR HRATS |

37) gl fawe gHT:

9 BT P TS YT HUT T T BT P G- aUT 4JUI | Sl
3reiIfepe TG UTeT BIT o,

delead _ PHgardrgl

1. 3%

2. Yea-TIfed

3. 39

4. 00

Correct Answer :-

38) “71 B BT T ATA” B FIT HTd 62
1. TATfAHH

2. TIRM

3. TR

4, TR

Correct Answer :-

39) “gR| P HER Sfad & a1a” &) T Fed 82
1. TRIShHI

2. RIYBRI

3. GRSt

4, URSiId!

Correct Answer :-

40) 5T BT F 1T BT AT & 7 Hur eAeiRe a1 die uRig g1t 2 r



1. Hel Y

2. Hadh heyg

3. 3Yd hIxd

4, 3ffd BT
Correct Answer :-

o Hel bl

41) YETaRT IaTa:
IDBIYIDFAAW_ aral sl wHt T B
1, S AT

2, Tl T FepTe

3. i 9% e

4, AT o b1

Correct Answer :-

. W9 39 Ao

Correct Answer :-

. P e

43) firaTE _fA3TE’ Py e TH T T 82
1. famia sife

2. e SR e

3. O SR e

4. A SR W

Correct Answer :-



44) 33 9T BT Y5 U 13T :
S e

1. TR B TG |

2. gl e fe|

3. g SR ¢ ol

4. G 3R ¢ 41 At

Correct Answer :-

- T3 3new faa

45) Y UY B W ¥ U 3R 1Y e ¢ yz7 #1 I«R <:
# 91 9% O WU R $9d Fel P,

ST H ITD! T AIgT FTdT &,

3R 9 R g Taar § A W 3,

$9 WE IR BIAg] IS R

#7181, 99-Y7 ¢ U8 9, ot

FHeqT Bt oty F ot 4R Tl B,

9101 €1 g faeRY & =8 $aq,

wu & o 57y  qear g 2

TY- HA IWIaa UlRdl & AT A T T S 8T 82

1. Bfd el Iedl ¢ [ Bfd HH Pad HeuT1 W 8 MYRT B Sfcsp T8 & RIdd R Hi R 91
g 3R PR gurd B HAIT R Y W4 3

2. BId Hel IEdl & [ Bid B Had Hed-T IR &l S1UIRd el 81d dich T & Riad W Tl A
WA & 3IR PR T} H1 SOt R $Y 9d 8

3, DI BT ITEdl ¢ [ Bid HH Had Hedl W &l UG T8l 8l Sich s & RIdd W H i@
WTd § 3R B3R U &t HHICT W T8 HY W g

4, Bf3 HgT ITEdT ¢ [ B BH Had Heu1 TR g1 MUTRT el Bid dfcsh TS b LRI TR HY IRE od
g 3R BoR gUrf B HU W HY oA ¢ |

Correct Answer :-

« BId B IEdl & [ BId BH BHad Heu= W & MR Tel 8ld sfeep TS & eRiad W) Y 1RE wird
g 3R HoR gUTd Bl HIA R HY W B |




46) Yo ITRT THTST —

AT A T P ToA PR TR WA
1. §3 9 A1 & Tgar 3R W@ d Hol
2. T 9 = & e 3R Tod Joll|
3. 17 3 9= &I W el fRR Tgam|
4. AT T DI TEAMT 3R WHd Ao

Correct Answer :-

« TTA T S TR 3R B d Wl

47) Tdt fawea gHT:

M g 3R g 3 fawma @1, favre &1 srgyua Wi 81
1. 3 &Y

2. 3G ¥Y

3. 3FG ¥Y

4. 3G ¥Y

Correct Answer :-

. 3T FU

48) gl fawey gHT:

HT T 3T qTAT AT AT I AfPPH AHT__ glar gl
1. 3{ctfeheh

2. 3l

3. Sfalifod

4, 3fcllfcbep

Correct Answer :-

49) 39 9199 BT G *U JaT3U:
IR I WX A IR BT
1. 9RY d & T ST

2. H IR I7d STCT 38T



3, JRI-TRY Id § SIRTdT 3T
4, Id H S

Correct Answer :-

« TR g ST @

Correct Answer :-

. oSt e amen

51) gl fawed gRT AT TRT I

YTYT HPaTeHD & S9A o) e gl S=Ra glare
1, AT HhaTED A1 Yot sich o

2. G Yh T AT U BIHD Bicll & |

3. T YT a1 W idTeds gic |

4, SGI-T YohaTEd AT SHUHBIHD Bl § |

Correct Answer :-

. GRGT GhdIdd a1 UdlbTdD glal g

52) B+q BT ATH ad131:

gH & T H Syl I F 33T T8N
YIH A FHRT | H&H CRAT G |
IS YT H YIS HIGHT URAT L] |
FHade d" forgq & St ST FgT Il
1. ST

2. gRafifder o<

3, MifdeT B<

4, AR TG



Correct Answer :-

. TifdPT B

53) T BT ATH TdT3HI-

S9N 24 AT BIdY &, 3ryfa faws ==om & 11-11 AEATE 3R TH TRON H 13-13 AHATE | WREA! iR
aRedl AEmel R R T 81 8 § &Y TR B SIaRa® g |

1. Jerar

2. AT &<

3. BRI B
4, AR T

Correct Answer :-

. AN B

54) IR 9T DI Y& aTR | dGferu:
3Tl Yo SoHR 9 gy foramp

1. 3TST 98 a8 S 81 3ol i g1 39 g8l Ul

2. TS 98 Ya8 3oT 3R 39 g o |

3. 3TN e 98 gae 331 dd 394 g U
4. 3T gag 3I3d 81 39 gl o

Correct Answer :-

. 3151 98 gag 31 3R 39+ gd Ul

55) RS AT STa3iT:

q IUT Bidil § 99 /IR A1 @ g 1°

1. O 1 991 B T § HR A1aH T & |
2. 991 BIdll & TR AR 61 A1 @ 5|

3. I8 g IR ER A 781 @ § 1

4. a9 g TR TR A A ¢ |

Correct Answer :-

. 9Y1 89 IR AR A=A o g



56) TS AT ol (7Y aTery H Tgferg:
S Fra- aTdl Pt BIg WR T8l HIATl’
1. Y& A1 & Pls TR ! Bl

2. S g3 a1 § S BIs WR ol Bl
3. Ol 3[g I § PIs 35 WR Bl Tall
4. S S BN & S0 IS WR | bl

Correct Answer :-

. N YS AT 8 I BIs TR el BTl

57) 9 dTH BT Y& =4 ddIFU:
qg WA AP ISATR I’

1, 98 X I TR IaT 5

2. 98 R Y UIPHR I3 5

3. AR T iR 33T

4, 91 IR TP PR 36T 5|

Correct Answer :-

. TERIGR ISATG

58) I BT ATH TT30:

2 gRAE Dora, T o 3T 3,
2 B &3y SToie] o1 gg-HeT B e |

1. P
2. 4R
3. A5

4, Y[ 3H

Correct Answer :-

59) ¥ ¢ & UAS TRUTH 26 AEATE B §; 14,12 SUET 12,14 TR IFA Bl B 3R 3,10,17,24
ATATY SrfSarda: g 1 gieht 81

1. Scdledl
2. BT



3. 3l
4, TifdepT

Correct Answer :-

60) Tg! faHed §RT aTeT QRT PRI

yIoT A safddas

1. T 3T TMOIdl. o1 TRt o Tabd! P SR HRl 7
2. A 3O YUl Bt Wil ¥ Hobd! BT STRUI 6l B
3. T 3O A} Y TedT & Yabd! BT SR BT g |

4, TS 3O ST o TeTadl & Haball BT SR HRl 5

Correct Answer :-

« FIS SO ATt bt ARl & Hebdll b1 SR BT 5|

61) HTUT ITER5P Hobd g1 TP & dIedd & I
1, BT I S T

2. TS1d ST B gerals T8
3. 3D

4, U5

Correct Answer :-

62) 9 T DI UM 4 U¢ 3R - fRu T g1 H13wR &

HRT 98 &1 57 S7ds A g3 4Tl il S & faaR) &1 39 R 3097 3R g3 for I Sru=r =R $iiR 3rua
AT1-fdT Y Biedy HRT 3T T 3N it St & AU BT B4 il | SATE! & Uid "Il 91¢ S811
IR USW & TP US| 71d, Aaell A MUTer STYH &1 AT BT I 137 § HIRT 981 BT 9gd IRI
T UTerq, uRge ®1 S@uTa § diaar A1 AfeT Aaell a & AU F Sl § 91" S FaRATs
STaR WY 78 A1 TS il § SR 919 P T §91 T84T 8| Sid P & PRI PR $ o &
g H-H W e 9@ ugT Wd &1 Aaelt g § TP TR I} §3UT1 TP 919 A M § PR TH MU Y
AR STAT| a8 B 81 I WaR 71d § T 75 | S¥ U TG & ART IUTS YA 7T AR 39 @ A FRT
989 B! 3! fRiar Sars |

Y - HRT 98 f5Td 1Y HTH S T2



1. HRT 981 48 Sil & 1Y HTH B 1|
2. TIRT S 7{q aTell & A1 BT B Tl
3. HRT 58 a0 S & A1 HTH H Al |
4, HRT g et Sit o 1Y BT B A i

Correct Answer :-

o HRT T8 T St & A1 B B T

63) I T B WH I U 3R 2 f3U 710 U= &1 I« &

HRT 981 1 9+ g7ais B garm Tl il off & fraRY &1 39 R 3a-T 3R goit fF & 3ru=T wv 3R orH
ATT-FaT &) Bigd? YRG 31 T 3R Wi sft & 1Y FH 1 T | M) & Ui I 918 3814
IR UK & TP ULTS! i, aeht § MUTe e o1 AT D11 37 31 § HRT 984 H7 9gd IRT
ToY uTer, uRget @1 SHTa § didar 31 Afe Aaeh g & U F SEl § 9" O GaAre
SITeR Y Tgd A1 UeTS) il § SR 979 BT SX g1 T84T g1 ST ded & SR RreR 3 aarr #
a9 Ht-w W} e aF ugT 91d &1 Aadt A9 | TP IR I §3MT1 TH 919 A M A B TH MY B
AR SToT| Y8 I 81 U8 WeR 71ig & T TS | S §U 7119 & T YT ATHH T 3R I G 3 HRT
89 B! U fiar sars |

Y- HRT 98 7 {59 3Med $t RITAT H1?
1, HRT S8 = 7MY STHH Bt RITYT Dl |

2. RTS8 A g-a1d- 3T Pt RIYAI &1 |
3. HRT 6T 3wa 3M1%H &1 RITAT |

4, TR 984 = HUT SYH B RG] 1|

Correct Answer :-

« URT S A U SH1HH B RATG D |

64) 3 TR B W I U 3R 9 f3U 0 u=zq &1 I« ¢

HRT 5891 &1 o+ S7as | gaim Tl il off & fammRY 1 39 WR 3a-T 8RR g3 fF @ Sruem R 3R 3re
HIAT-FUdT &) BIShT HRT 3T TS 3T ich St & 1Y 19 $I4 i1 ST $ UTg I 916 S5l
SR UK & TP UgTS! 71, Tacil T TMUTe STyH D AT Dl 3T YT § HRT 989 $T 989 IRT
TG UTerq U B @UTe ® Aiear o1 Afe Aqeht M & MU & Se W 99 S9N "aRATe
SITaR i Tgd A1 UBTSY il # SER 91" BT 8% g1 34T g | STd e & SR IR 3t aarr #
a9 -} e qF uga oa g1 Aqel g A TP IR T g3 TP 919 A Mq H gYB TP M Hi
TR STATI Y8 Bid 81 I8 WeR Tid § et TS| S §U 9 & ANT TUTS SMTHH T 3fiR 3 @R 3 Wy
989 B! 3uH1 fiar sars |



Y- ATeITG! & o= AT & 91G WRT 981 A STYH D RITY BT 412
1. 3TV & UTel HIel §1G G MY Bl R 1 1|

2. SIS & I ISt TG S5 1 SMTHH B RITTAT B 2R

3. 3MTVITEl & 3T |l §Ta I SA8H b RITYT o

4. STSITET & Tl Il STa S6IH YHH BT R bt Ui

Correct Answer :-

« STSE & UTe W1 §1E S84 STYH B! RGPt 2R |

65) 9 T D! S ¥ US 3R 41 3T 10 g1 H1I@1 &

HRT 5891 &1 o+ $7as | gaim uTl il St & faaRY &1 39 WR 3a+1 8RR g3 fop @ 3rueT R 3R 3re
A1 B} BiseY YR 31 TS 3R Tieh St & 1Y B B3 @il | M) & U 91 916 S
IR UK & TP ULTS! 71, Taehl T T e o1 AT D1 39 SMeH § HRT 989 H71 959 IRT
T uTerq, uxget @1 SHTa § diaar A1 AfeT Aaeh Ua & AU F Sal § 9" SN FaRATs
AR WY 784 A1 URTEY Tial § SR 919 1 S §11 384T 2| ST e & HRUT RBR P aar &
arg Fl-F M9 aF ugT 9 B el g & v aR T8 §3iTI Th 919 A M9 W DR Th T B
AR STAT1 a8 B 81 I8 WaR 11d § e 75 | S §U TG & SRT TUTS T T AR I @ A HRT
989 B! U fRiar Sars |

Y- HiRT I8 BT o Bl gaiT UT?
1. HRT 981 &1 579 S7cis § goft Tl
2. TRT 98 1 o7 UTsais | g Tl
3. {1 518 1 & clicdl H g T

4, HRT I8 BT S SIU & g3 T

Correct Answer :-

« TRT T8 HT o 370 H g ol

66) U T D! W ¥ U¢ 3R 1 fRT 0 gz H1 3@ 8

HRT 9891 BT o779 7S | goit ATl il oY & faaRi &1 39 R 5a-1T SRR g3 foh 9 SruFT R 3R o=
AT B Biedy HRT 31 T 3R Tith St & AU S8 B el | el & uia |1 918 3517
IR UK & TP UgTS! i, Haehl & Mure e o AT D11 39 3o § W71 989 o7 9gd IRT
oY uTerq, uxget @1 SmuTa § didar 31 Afe Aaeh a F U F Sal § 9" O GaAre
STaR WY 78 A1 TETSY i) § SR 919 BT T §11 I§dT 2| SiTTd P & PRI RPR Y o &
arg -} e q uga wra &1 Aqe g W TP IR T} g3 TP 919 A Ma H gYHI TP M Hi
AR STAT1 a8 i 81 U8 WaR 7ig § e 75 | S¥ U 19 & RT TUTS T T 3% I A 3 HRT
T8 &I U Riar Sars |



Uy - ¥RT 95 f5d Sied? WRA 31 T A2

1. HRT 61 R 3R S0 ATA1-IUa1 3l BISHR YRA TS|
2. TRT 98 W 3R S0 AI1-fd &) SIS URA M1 TS|
3. HRT 98 TR R U Gl Bl BISHR HRA SN TS|

4, TRT 981 T 3R 307 HTS-98- Bl BISHR HRA AT T |

Correct Answer :-

o HRT S8 IR 3R 3T~ HId1-faT ) BIger YR 3 TS|

67) 39 U] Bl A I TS 3R - AT ¢ g H1 3wk <

#9198 & WU R Had Fel B,
ST H I T AT ST &,
3R 39 W Hiq a1 § 74 W @,
39 TRE §IaR BIagl SSTaT g
79 T8t 77-UA © 9% 9, st
Fea o1 iy F ot aR B 8,
aTor ) 2 faat & =1e Faa,
Ty & Wt g1y A aear gt 21

UY-AF-TF BTG ?

LG I Rl 3R ‘pfy & Riw s mn gl

. T GE WS 3R ‘i & o e e T g
TG G A SR Hia & o SRl T g |
T TR Ut SR shfa” & e w1 man g
Correct Answer :-

. TP T T R B & R wer g

68) T U B! AT 9 Ue 3R -4 fau 70 u=q &1 I« <

[ay

N

W

LN

# 9 9% S W99 UR Had Hel B,



3T & ISP T 6T AT g,
3R 3 W g a1 § A W @,
I WE SR Biard! Ierar |

WY TEY, 79-97 8 I8 |, forerest
FAAT ISy H off YR B S,
q1o1 81 g fraRt & =181

@ ¥ ot g1 & JaaR gt 81

Y- W & Wt T4 | aqaR gielt 37 A Hig BT R a1 82

1. T &b 1 81 B TAaR Eiell ¥ A i 7 A1 § b TW 7 6l % 6= ol B & T &, 3R A
REAGEAREGE]

2. T % W gTY T AR Bl 80 | B &1 aerd § {6 W ot 5% R ToRA @t e 3@ €, 3 o
HifdeRI g &

3, WY & U 81U & AR gl 87 ¥ Hid &1 ared & fob W ol & & 7oA &1 A dT 79 5, d
HifPRI T8l 81 &

4, WU P 1 1Y H TR It 87 T Hid BT A1y ¢ [oh WU $B B oA BT & ot 31984 &, 9 Wt
HIRERIEAE |

Correct Answer :-

« WP T TR Bt & W Hid BT A1 ¢ 16 W 1t $3 TR oRA $T eFarad g, 9 of
HifdeRI gId &

69) T U B AT | Ue 3R = faT 7w u=q &1 I« <

# 9 9% &l WU W $ad Hel B,
3T & ST T TieT S g,
3R I R Hla I § T R B,
T WS $HAR WIAg! ST |
w181, 79-97 8 I8 A, ot
FAAT B oy H off UR B 8,
a1 81 g1 ARt & 7181 Faw,
Wy ¥ ot 714 & qaR gt B

Y- TqY U gt PIAT BT HIT e g2



1, Hfd BT AT T 161 & [ T8 Had WY 3HUTd Hed1 ! Bl YR I D BT Yidl o

2. B BT A g fob I8 PHad HedT Pl Bl YR T7 B HId T AT 8|
3. B 1A & {5 98 Had Wy 3rufd Heu1 &) g SMYR §1 B HTed T 7ol Rl g
4, B3 BT AT ¢ T 98 Had W 31T ST B &1 YR 7 PR BT T Hal ¢

Correct Answer :-

. B3 BH1A § {5 98 Fad WU UTT HeuT ol & SMUR I1 B BT T et dRdl g

70) 3 UL B A I U¢ 3fi¥ - 3T T8 g #1 3wk <

&+ 95 o WY R Fad a8 w9,
3T & S T AT T E,
3R 39 W g a1 § A W @,
39 TRE 19K BIagl SBTaT &

9 761, 99-97 ¢ 9% A, foraant
FAAT P SH H off yR B S,
aToT 8 g faamy & 181 e,
Wy & ot g1y & aaR gt 3

TY- “WBIATE AR ISP BT T AU 82

1. AT AR IS BT AT § IRAADH T B S D TR T R HIH GorT BT
2. “BIAE! SIAR SSHY BT AU & SARAaHdl & 31 Bl YR T B BT Foil HAT|
3. “BIAE! SlaR ST BT Ay § aRafdardl & ava Bl YR T HR BI ol HAT|

2N o O

4. “BIAC] SIIR ISP BT Y & dRAfGHdT & 31 BT YR T DR BT JoiT HT|

Correct Answer :-

2 (e Y

« “BIAR] IR ISP BT IO § IRAfGhdl & 31 Bl YR T B BT JoiT BT

Topic:- General English

1) Choose the option that best transforms the given sentence as directed:

This is the camera. | took the pictures of the party with it.

1. This is the camera into which | took the pictures of the party.



2. This is the camera through which | took the pictures of the party
3. This is the camera in which | took the pictures of the party.

4. This is the camera with which | took the pictures of the party.

Correct Answer :-
e This is the camera with which | took the pictures of the party.

2) Choose the most suitable determiner for the given sentence:

players were fined for swearing at the umpire.
1. Another
2. Both
3. Either

4, Neither

Correct Answer :-

3) Choose the most suitable determiner for the given sentence:

university is no place for politics.
1. An
2. Any
3. The

4. A

Correct Answer :-

4) Choose the correct form of adverb for the given sentence:

____,lwas able to attend the wedding.
1. Instantly

2. Luckily

3. Suddenly

4, Wistfully



Correct Answer :-
e Luckily

5) Choose the correct form of adverb for the given sentence:

They were _______ questioned.
1. repeatedly

2. restrictively

3. reportedly

4, repentantly

Correct Answer :-
* repeatedly

6) Choose the correct form of adjective for the given sentence:

Courage is a mental state and so, it gets its strength from spiritualand ______ sources.
1. superficial

2. social

3. intellectual

4, intelligible

Correct Answer :-
e intellectual

7) Choose the correct form of adjective for the given sentence:

She cannot use her ______ hand.
1. deformed

2. useless

3. sick

4. hopeless

Correct Answer :-

e deformed



8) Choose the correct form of modal auxiliary verb for the given sentence:

If he discovers the truth, there's no knowing what ____ happen.
1. might
2. would
3. should

4, shall

Correct Answer :-

9) Choose the correct form of verb for the given sentence:

As aresult of thefall, he ___ home slowly.
1. stepped

2. wound

3. limped

4, sped

Correct Answer :-

10) Choose the correct form of expression to complete the sentence:

He persisted in disobeyingthe
1. requests

2. orders

3. rules

4, doctrines

Correct Answer :-

e orders

11) Choose the correct form of expression to complete the sentence:

Being dissatisfied with his job, he resigned from his

1. status



2. chair

3. position

4. rank

Correct Answer :-

¢ position

12) Choose the correct form of tense for the given sentence:

The valleys are too steep for elephants to get across to the wet side where bamboos
1. will be growing

2. must be growing

3. can be growing

4. grow

Correct Answer :-

13) Choose the correct form of tense for the given sentence:
He usually listens to the radio, but at present he television.

1. has watched
2. had watched
3. watches

4, is watching

Correct Answer :-
* is watching

14) Choose the correct form of tense for the given sentence:

He__ very little when there are strangers present.
1. had always spoken

2. was always speaking

3. is always speaking

4, always speaks

Correct Answer :-



« always speaks

15) Choose the correct form of tense for the given sentence:

My brother ____ to Kampala next year.
1. will go

2. had gone

3. has gone

4. went

Correct Answer :-
« will go

16) Choose the appropriate preposition for the given sentence:

Thesunhasgone____ acloud.
1. after

2. by

3. behind

4. before

Correct Answer :-

« behind

17) Choose the appropriate preposition for the given sentence:

He tried to conceal his identity disguising his appearance.

1. by

18) Choose the appropriate preposition for the given sentence:



The professor has been absent ___ Monday.
1.0on

2. since

3. from

4, last

Correct Answer :-
e since

19) Choose the appropriate prepositions for the given sentence:

He is always a hurry; he drives a tremendous speed.

1. off, for
2. into, on

3. in, over

4. in, at

Correct Answer :-

20) Choose the appropriate usage to fill in the blank:

The essence of the talk was ___ misunderstood.
1. completely

2. minutely

3. significantly

4, greatly

Correct Answer :-

* completely

21) Choose the appropriate articles for the given sentence:

happiness and love surrounding newly married couple was evident.

1. An, an

2. An, a



3. A, the

4, The, the

Correct Answer :-
e The, the

22) Choose the appropriate articles for the given sentence:

______aspirin_____day will keep heart ailments at bay.
1. An, the

2. An, a

3. A, the

4, A, a

Correct Answer :-

23) Choose the appropriate articles for the given sentence:

Singletis ___ word that should bein_____ dictionary, but isn’t found there.
1. a, the

2. the, a

3. an, the

4. an, a

Correct Answer :-

24) Choose the appropriate articles for the given sentence:

The employees were having important discussion on corporate governance in
auditorium.

1. 3,an
2.3,a
3. the, the

4, an, the

Correct Answer :-



25) Choose the correct form of verb for the given sentence:

I have often why they went to live abroad.
1. surprised

2. wondered

3. thought

4, puzzled

Correct Answer :-

¢ wondered

26) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: The underlined word ‘cartographer’ in the Paragraph 2 of the passage means a person
who

1. studies and makes maps
2. designs globes
3. looks into the geographical boundaries of the earth

4, sketches route maps

Correct Answer :-

« studies and makes maps

27) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: What is the highlighting feature of the AuthaGraph World Map?

1. It seems to have solved the issues using geometry only

2. It stood first among a thousand entries in various categories only

3. It divides the globe into ninety-six equal triangles and projects them onto a tetrahedron shape only

4, All of the above

Correct Answer :-

¢ All of the above

28) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: According to the passage, which of the following projections is not practical for sailing
in the waters?

1. Galls-Peters Projection
2. Mollweide Projection
3. Mercator Projection

4. Boggs Eumorphic Projection

Correct Answer :-

« Boggs Eumorphic Projection

29) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: The AuthaGraph World Map has been desighed by:
1. Galls-Peters

2. Boggs

3. Gerardus Mercator

4. Hajime Narukawa

Correct Answer :-

« Hajime Narukawa

30) Read the passage carefully and answer the question given below:

The decision to bestow the 2016 Good Design Award, Japan’s most prestigious design honor,
upon the AuthaGraph World Map came as a surprise to many. Given that previous winners have
been innovations like personal mobility chairs and robotic arms, people wondered what had
impressed the judges about the design of a map. It turns out that this strange-looking map is the
most proportionate depiction of our planet.

The world map, as we know it, uses the Mercator Projection, a mapping technique developed in
1569 by cartographer Gerardus Mercator. Though excellent for navigation, the method
significantly distorts the size and proportion of land masses and bodies of water. So while North
America and Africa appear to be about the same size, in reality, the former could fit inside Africa
with room to spare for India, Argentina, Tunisia, and much more. Similarly, though Brazil is more
than five times larger than Alaska, it is the latter, that appears bigger. The reason for the
discrepancies has to do with the challenge of transposing the 3-dimensional spherical surface of
Earth onto a 2-dimension flat map, a task that is surprisingly hard to do accurately.

Over the years, there have been numerous attempts to solve the issue. The Galls-Peters
projection tried by vertically compressing the regions near the poles, while the Mollweide
projection bent continents around the corners to portray them more accurately. Though the
Boggs eumorphic projection showed the correct shape and land mass size by slicing the globe
into sections, the map was not practical for ocean navigation.

The AuthaGraph World Map, which beat out 1,000 entries in various categories, appears to have
solved the issues using geometry. Created by architect and designer Hajime Narukawa, it divides
the globe into ninety-six equal triangles and projects them onto a tetrahedron shape. This simple
technique preserves the proportions of the land and water when going from a 3-dimensional
sphere to a 2-dimensional map.

The result is an accurate map that is unlike any other. Instead of lining up straight across, the
continents curve upwards, as though smiling at finally being represented accurately. It also
appears as though Africa and the Americas have swapped places. As for those tidy longitude and
latitude grids? They have been reduced to a mishmash of curvy and twisty lines!



Sarah Benton
Feitlinger

Question: The Good Design Award is the brainchild of which country?
1. Argentina

2. Brazil

3. Tunisia

4. Japan

Correct Answer :-

Topic:- General Knowledge

1t 3 A2t
2 of < of a number is 120. What is the number?/ﬁ?@wa? 212
A E?

1. 256

; 120 % SRR 3| I8 &=

2. 250
3. 320

4. 160

Correct Answer :-

« 320

2) Five boxes A, B, C, D and E are placed one above the other. If A is above
B, C is above D but below E and D is above A, which box is in the middle?/

U A, B,C, D3N ETHFFWRITE IR A, BFFRE, C, DF IR PIED
B3R D, A F FW e, dl A B ATTRITE?

1.D
2.B
3.C

4, A

Correct Answer :-



Choose the appropriate combination of signs to solve the following

expression./ ¥ &o® &I g B & (AT Havd| BT UG FdTo g |
16 ¥ 8 * 1 * 8

1. =-+

4) 1f 4th of March, 1997 is Monday. What will be the day on 8 of March,
19987/ Tfe 4 W, 1997 HI HHAR g1 8 A, 1998 &1 I IT fa= gIm?

1. None of these/%?ﬁ@[ﬁ%:lﬁ
2. Sunday/ IddR

3. Friday/ JhdR
4. Saturday/ ¥ AR

Correct Answer :-

« Saturday/ ¥ TR

5) In a certain code language ‘"MONKEY' is written as *XDIJMNL’. How will
‘TIGER’ be written in that code? /% fAf¥d ge UraT &, *"MONKEY’ i forad &
‘XDIMNL’ 39 $e ¥ "TIGER’ H H e Sam?

1. SDFHS
2. SHFDQ
3. QDHIS

4. QDFHS

Correct Answer :-

6) In the following question, select the related letter/word/number from the

%%l;n alternatives./ fF=fafaa = # fou e faweul & Q TafRa sier/Re e &
|

SIGNAL: TRAFFIC::/ Jdd: qIdrITd::



1. Dam : River/ EICRGE]
2. Door : House/ QXdIVIT : °X
3. Lens : Light/ 9 : T

4. Brake : Wheel/ ?[W:U%Tﬂ

Correct Answer :-

. Brake : Wheel/ 314 : Ufgan

7) In the following question, select the related letter/word/number from the

%ggn alternatives./ Fmffaa u=a ¥ fag T fawenl § @ T@Ra sigR /TS &
|

CD:34::AB:?
1.21
2. 25
3.68
4,12

Correct Answer :-

8) DIRECTIONS: Question are based on the following figure. Various letters
represent various types of persons./ &1 a8 uy fRufafaa smefa wr smenfya 81

fafir srer fafira UoR & sfeaal & gxiid €1
Square - Clerk / & - Fofh
Triangle - Bachelor / Py - ufaanfy
A D Rectangle - Player / g - foramsy

N E Circle - Male / ey - qoq

Persons who are neither bachelor nor male but player and clerk are

represented by which letters? /3f& i 7t sifaarfea 3k 7 81 7ou 8, afe arst
3R Fad 8, DI fb &Rt | I=ITaT oI TP 32

1. L and H/L 3R H
2. B and N/B Gﬁ'\’N

3.Band L/ B 3L



4.B and C/B 3R C

Correct Answer :-

« B and N/Bﬁﬁ“\fN

9) DIRECTIONS: Which of the following can replace the question mark?/
rd=n: P a ¥ wiF, vy R o nfownfig w1 gaars ?

DE-9, FC-9, LP-28, GT-?
1. 35

2.8

3.27

4.6

Correct Answer :-

10) Shanu is taller than Anil. Raghu is taller than Chandra but shorter than
Brinda. Shanu is shorter than Chandra. Who is the tallest?/ T, 3ifd &1 a1
o T 81 7Y, 951 D g 6 a1 8 IReg el A Sier 81 X+, TSI 1 ga-l | Sler gl 99
T DI §?

1. Chandra/dgl
2. Bindra/fsicr

3. Shanu /X0,
4, Raghu/}Y
Correct Answer :-

. Bindra/@ET

11) Which figure represents the exact relationship with the variables
Language, Oriya and Urdu given in questions?/ aﬁﬂ'\rﬂwﬁrwﬁf&qwm
T, 33T 3k 3¢ F i Sy # gxiidl 82

@



1.D
2.B
3.C

4. A

Correct Answer :-

- A

12) Which river is mentioned as ‘Charmanyavati’ in Mahabharata?/ qemmaﬁ'

HI- T TG DT IRATTGA & A1 I I a1 79182
1. Tapti/ dTwit

2. Narmada/ =7Ha]

3. Chambal/ ddd

4. Shipra/ f&mn

Correct Answer :-

« Chambal/ ddd

13) In terms of Percentage of Wind Power Potential Utilized, Madhya

Pradesh ranks among all the Indian states (As on 31/03/2016)/

Ua Sl &HdT & U SUERT & SR, H UREH o4l § T 77 UeT &1 I
2(31/03/2016 d&)]

1. Second/ gixI
2. Third/ dRRT
3. First/ Ugdl

4, Fourth/ T

Correct Answer :-

« Third/ dRRT

14) The cave of Adi Shankaracharya is situated at — / 3Mf¢ HETS $ THT FHEl
fRag?

1. Omkareshwar/ 3FBRYR

2. Maheshwar/ ﬂ%%{?
3. Orchha/ 3R®T



4, Dhar/ YR

Correct Answer :-

« Omkareshwar/ SNTHTYR

15) of Tikamgarh have GI Tag/ feF e & H Sfiems S glar gl
1. Bell Metal Wares/ & HTq AT

2. Sarees/ TS|

3. Leather Toys/ W@%@Fﬁﬁ

4. Fabric/ ®USI

Correct Answer :-

« Bell Metal Wares/ Sd 9Tq IRt

16) The length of a rectangle is twice the breadth. If area of the rectangle be

1250 sq.m., then length is:/T% Tad 3} s, TeTE | T 21 A 3maa o7 S
1250 9 HieR §, Y &S fha 82

1. 40 meter/40 Hiex
2. 60 meter/60 Hex
3. 50 meter/50 Hiex

4,15 meter/15 Hlex

Correct Answer :-

« 50 meter/50 Hiex

17) Aman walks 35 feet towards North, turns right and Walks 50 feet, turns
right again and walks 65 feet. He then turns left and walks 30 feet. He turns
left again walks 30 feet. Finally, he turns to his left to walk another 30 feet.
In which direction is Aman from his starting point?/ 3H 35 BiC Ik Bt 3T
AT 2, 31T SN 50 Wi gadl 8, 98 fhx a1t o oIk 65 fibe gaar 21 98 R st geax
3R 30 Wie Iadr 21 98 b= 91T YSHR 30 Wic Iaar 8| 3iad: 98 9I¥ YSHR 3k 30 Wicaddr
71 3 39 URIS fog & frafammd 82

1. East / Uﬁ
2. South-West / afémr-afes

3. North/ S«i®
4, West/ TfgHq



Correct Answer :-

. East/llgqc

18) The Alhait community of Bundelkhand sings about Alah Udul and the
wars fought by him./ §3ATS FT eTed GUSH AT Igd 3R I7P §RT AS T
g IR A AT 8

1. 46

2. 50
3.48

4,52

Correct Answer :-

19) Where did Ustad Amir Khan hail from?/ S&I1g iR @ &gl & farit 872
1. Indore/é’ﬁ?

2. Gwalior/ TTfeaR

3. Jhabua/ g3

4, Bhopal/ Urare

Correct Answer :-

. Indore/%ﬁ?

20) A and B together can do a piece of work in 4 days and A alone can do it in
6 days. B alone can do the same work in:/ A 3i¥ B faa: frfi s o 4 g &2
TPd & qUT A 3B 3T BTH B 6 fa- 7 % TPpa1 g, a1 B 3bd 39 w1 &1 fran et o
HM?

132 132
1. “3days/ 3faA

2. 12 days/12feq
3. 16 days /16 faA
4. 11 days/11 faa

Correct Answer :-

. 12 days/12fea



21) A and B invested amounts of Rs. 40,000 and Rs.75,000 respectively. At
the end of five years they got a total profit of Rs.46,000. What is A’s share in

the profit?/ A TUT B 3 HHRT: 40,000 U TYUT 75,000 TUT 1 IR A< F1| 5 a0 & i A
3 S A T 46,000 TU B A YT FT| ST ARTH A BT 71 10 B |

1. Rs.16,000
2. Rs.15,000
3. Rs.15,500
4. Rs.16,500

Correct Answer :-

+ Rs.16,000

22) A and B can be do a piece of work in 12 days, B and C in 15 days, Cand A
in 20 days. A alone can do the work in how many days?/ A 94T B &t sTH &I
12 faid, B aurc 15 R &, c quT A A A &) 20 AT A X APHd 8| A 3rbar It

S B fhad fet & e

1. 15
2. 30
3.24

4. 40

Correct Answer :-

23) Who was the founder of the Nyaya Darshana?/ Y g & HXITIP B A?
1. Patanjali/ Gdsifel

2. Kapila/ A

3. Akshapada Gautama/ 3{efuTe Mad

4, Uluka Kanada/ 3®1 H-IS]

Correct Answer :-
. Akshapada Gautama;/ 3{&fdrc TiaH

24) The present Governor of Madhya Pradesh Shri O P Kohli is holding the
post since - / A% YR & gad= IrsauTd &t 3.4t ®ige frd ad 9 39 e R fAgea g
22

1. 2016



2. 2017
3.2014

4, 2015

Correct Answer :-

« 2016

25) What is the maximum number of members from the Anglo-Indian
community that can be nominated to the Lok Sabha by the President?/?Tg'le?r
ERT AHIUT H AP fhT 9 a1 Wal- YR e & el i SARIGTH IS 71 3?

1.3
2.4
3.2

4.5

Correct Answer :-

e 2

26) What is the capital of Qatar?/ Hd3 ®! ISIUT FT 82
1. Beirut/ s=d

2. Male/ #Tel

3. Tehran/ dgx

4, Doha/a_eﬂ

Correct Answer :-

« Doha/ GIgl

27) The value of (256)%-16x(16)%-18 js:/(256)%-16x(16)9-18 %1 7 1A B |
1.8

2.4

3.16

4. 256

Correct Answer :-



28) On which river is the Kapildhara Waterfall situated?/ $UGYRT STquurd fog
TR RAE?

1. Tapti/ dTi!

2. Narmada/qﬂa’[
3. Son/ i

4, Shipra/ R

Correct Answer :-

. Narmada/ THe1

29) Two persons enter a room in which 11 seats are vacant. In how many
ways can they occupy the seats? /T% $HR # 11 HIe §1 98T oY safdt 33| A foraq UPR
q 96 T&Hd g2

1. 25
2. 100
3.110

4,90

Correct Answer :-

30) The greatest number, which when divides 989 and 1327 leave
remainders 5 and 7 respectively is:/dg GaH TS TS FT 811, Forad 989 9T 1327 §
YRT 3 TR HH: 5 TUT 7 AUHd gadl 31?2

1.8
2. 32
3.16

4.24

Correct Answer :-

31) The average weight of a group of 20 boys was calculated to be 89.4 kg
and it was later found that one weight was misread as 78 kg instead of 87
kg. The correct average weight is:/20 asﬁm 3N a9 89.4 fopu sifora fopam mam)
91c A 31a 31 fob T WA 87 T3 & i wR 78 T sifea fovam an 81 @ sfiaa ao+ 99
B3|



1. 89.55 kg/89.55 U1
2. 89.25 kg/89.25 faur
3. 89.85 kg/89.85 faur
4. 88.95 kg/88.95 b

Correct Answer :-

. 89.85 kg/89.85 f&un

32) If in a certain code language, PARENT is written as BDFGJK and
CHILDREN is written as MOXQUFGJ, how is REPRINT written in that code?/
gfe {5l fAf3a Te yToTH, PARENT &t BDFGIK feRar SiTar 8 8fik CHILDREN &)
MOXQUFGJ for@m Sirar & ot 331 e 4191 & REPRINT &) frd U fordi?

1. FGBFXGD
2. FGBFXIK
3. FGBUXIK

4, BGBFXJK

Correct Answer :-
« FGBFXJIK

33) If in a certain code language, PROHIBITION is coded as 68032124205.
How will you code INHIBITION in that code language?/ af¢ t& fAf¥d $e U 4,
PROHIBITION %I %c 68032124205 %l 3 b 'J-I'I'GIT'J-:T, INHIBITION T $Hc | Ea;llll?

1. 2542124205
2. 2532125205
3.2531214205
4, 2532124205

Correct Answer :-
« 2532124205

34) How many circles are there in the following figure?/ SR &1 T8 Gf@ﬁffﬁo_cﬁ
T E?



1.12

2. 14
3. 11

4,13

Correct Answer :-

35) Who is the author of the famous book ‘Two Lives’?/ WRis §&i® "¢ drgod’ &
qAEP P 3?

1. Arundhati Rai/ 3r54fd I

2. Ritu Beri/ Rga’t

3. Khushwant Singh/ gxrdd Rig
4. Vikram Seth/ f[dpd I&

Correct Answer :-

¢ Vikram Seth/ﬁﬁﬂlﬁbr

36) Which of the following tourist-places is situated at Gwalior?/ fFgfeRad
T ®ydl # A $iF- 91 arferR # fRua 82

1. Indira Gandhi Rashtriya Manav Sangrahalay/%ﬁﬂﬁﬁ?@qﬁﬂﬁm
2. Chhatri Bag/ Bl aNT
3. Ashokan Pillar/ 3R0® Y

4, Tomb of Ghaus Mohammed/ T AIgFIC &1 HHER]

Correct Answer :-

« Tomb of Ghaus Mohammed/ﬁHH\IE;MQWHobqu

37) Which of the following rivers doesn’t flow in the Central India Plateau

region?/ A% URd USR &7 § g # A o1 T 1) &1 yarg g 82



1. Jamner/ STHR
2. Chambal/ Idd

3. Kali Sindh/ @1 &Y
4, Parvati/tﬂé_cﬁ

Correct Answer :-

. Jamner/ STHR

38) Which of the following districts of Madhya Pradesh is known as the

‘Gateway to the Southern India’?/ At0 Ue¥ & FFufafad el & & oi49- T eféoft o1
gR' & 19 | ST 141 82

1. Shajapur/ RITSITYR
2. Khandwa/ T<dl
3. Tikamgarh/ &G

4, Burhanpur/ §XgMYR

Correct Answer :-

« Burhanpur/ §XgHYR

39) Which of the following awards was founded in the year 1986-87?/ EL
1986-87 ¥ Fufeifla RedRl & & - w1 witfua far mar ur?

1. Tansen Award/ A GRBR
2. Kalidas Award/ Sielare qREHR

3. Tulsi Award/ sl QREPR
4. Kabir Award/ SR &R

Correct Answer :-
« Kabir Award/ HaR QT&HR

40) Razia Sultana was the successor of - / IHIT gear1 fbaat STRIUDRT A2
1. Ruknuddin/ ¥&e A
2. Bahram Shah/ dgxH Rlg

3. Masud Shah/ HJgq Rlle
4, Balban/ dcidd



Correct Answer :-

« Ruknuddin/ ¥&Je

41) Bihari Lal who was famous for writing the Satasai was born in - / f[98R_}

T SN Taws fora & e uRieg &, 39%T o170 FaT golT UT?
1. Indore/ 3&R

2. Gwalior/ﬁTf?lW

3. Bhopal/ arare

4, Jabalpur/ SIdcyr

Correct Answer :-

. Gwalior/ TR

42) Who had founded the English weekly ‘New India’?/ f&a= SEisl Arwies =,
Siear & RITYT &t 412

1. Lala Lajpat Rai/ <l dllsiUd XIT

2. Bal Gangadhar Tilak/ STd TR fdeids
3. Bipin Chandra Pal/ fafU= 9% ura

4, Sri Aurobindo Ghosh/ &I Rfdgl Oy

Correct Answer :-
« Bipin Chandra Pal/ {9t @ig ura

43) Sarita and Julie start walking from the same place in the opposite
directions. If Julie walks at a speed of 2.5 km/hr and Sarita at a speed of 2
km/hr, in how much time will they be 18 km apart?/mﬁmqﬁwg’rﬁ@'ﬁ
Tw & 9Hg W faudta faznai # ga=m uRy o<t 31 afe 3! nfoat wasn: 2.5 fewdteer aur
2 fopeii/det g1,al fba o a1 39 i @1 got 18 foredt g1 smefi?

1.4 hrs/4‘€i?:’
2. 4.8 hrs/ 4.8 °¢
3.5 hrs/ 54¢

4.45hrs/ 454

Correct Answer :-

« 4 hrs/4‘a%'



44) Where was Tatya Tope executed by the British Government?/ fafexi @aR
= AT S Bl HEI ART UT?

1. Gwalior/ Wl

2. Shivpuri/f?l"c[gﬁ
3. Sidhi/ Steht

4. Sheopur/mﬂER

Correct Answer :-

« Shivpuri/ I?zlag'él

45) DIRECTIONS: In the questions below are given three statements
followed by either 2, 3 or 4 conclusions. You have to take the given
statements to be true even if they seem to be at variance from commonly
known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding

commonly known facts. /g = feu T Ui & few mu Sl vy a1 Y Ay 2, 3 AT 4
BT TR HAT 2 | SMTID! fET T T BT T AT BT, HA B I SMHAR R I a2 3 i
81 32 8 9t Frsed u@ ofiv a« ol & 2w e frepuf & & adhia ¥ § 9y @ aur e e
FYA A ferd e mar g1

Statements: /S Y-:

All ties are belts/ Gt TS aT &

All belts are buckles/ [ 9e€ U¢l §

All buckles are socks/ It U Wiw &
Conclusions:/ﬁ-‘l‘lﬁ?ﬁf:

I. All socks are buckles/ 94 719 Ut &
II1. All buckles are belts/ Hﬂ-ﬁﬁ‘c&aﬁ?
III. All belts are ties/ 9 de S &
IV. All ties are socks/ F“-ﬁ?lﬁtﬁ@f%'

1. None follows/ 13 IR0 -Tal HRal &

2. Only Conclusion 1V follows/ HId IV SIRUT Hl %

3. Only III and IV follow/ Had 111 YT IV T SR HRd &
4. Only I and II follow/ &ad I GYT IT &T S{TERUT R &

Correct Answer :-

« Only Conclusion 1V follows/ %ad IV 3{IERUI Gl &



46) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁf‘;‘QT: ﬁﬁt{wwﬁﬁfﬁ?ﬁ&ﬁ?sﬁ
91 $© fewd faw e 1 simust 3T 18 = ot I 7 8 Ha €Y 3 wdya @l | e
wdla gid gt | Jeft et ot ufee fivr au wifoe f fi e st & @ wi-w1 e few e
Yl DT IO B A IR BT 3, e Fayd 9 $o ¥ 3|

Statements: /HY:

All men are parrots./ It G-HE'lﬁ, ?ﬁ%%l

Some parrots are crows./ Wﬁﬁ, Eﬁ"'{%l

All crows are hens./ ?{‘l-ﬁﬂ({, Hﬁf*ﬁ%l

Conclusions: /fAh:

I. Some men are hens./ W\’rﬂ?ﬂﬁ, Hﬁfﬂ’f%l

II. No man is hen./ ﬁ?z‘\’rlﬁfﬁ, H‘ﬁﬁ%l

1. Either Conclusion I or II follows/dT dl kY I AT11 &WW%
2. Neither Conclusion I nor II follows/T fsst I T &1 11 &I':NTUTW_CIT%
3. Only Conclusion I follows/mﬁ&b_ﬁfl WW%

4. Only Conclusion II foIIows/WﬁfﬁdﬂfII WW%

Correct Answer :-

« Either Conclusion I or II follows/ﬂTFﬁﬁWGfI qr 11 GENTUTW%

47) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%ﬂ: ﬁ%%qnqmﬁwww 3R TP
91e o et 3 T ¥ Sue! fRT U $u= &1 T AT © W €1 3 wdyma at @ i
Tedd gid 81 | gt el 3 ufew e g wifere i few 1w fAseut & @ w9-a1 fAeed faw e
FY BT TG U A SRV BT 8, AR g a7 $© W &1

Statements:/ ®Y-:

All windows are houses./ 94 f@sfeal, R 1

All houses are chairs./ H‘J-ﬁ‘?R, ?\‘ﬂ:%l

Conclusions: /fwt:

I. Some windows are chairs./ W@Sﬁ"ﬁ, @‘Rﬁﬂ%l
I1. Some chairs are windows./ W?ﬁh’i, @Sﬁﬂﬁ%l



III. All chairs are windows./34 iiui, Rasfeargi
1. Only I and II follow/ %dd I 3R II SR Hd &

2. All follow/ T+t SFTIRUI R §

3. None follows/ ®Ig 3IURUI Tg] @l

4. Only II follows/ %dd 11 3fJERUI HRT §

Correct Answer :-

« Only I and II follow/ dd I 3R II IR Hd &

48) From which of the following districts was Alirajpur created?/ fRgfefaa
el & @ $19- 3 forer I SrefRIeTgR S mm T/ ur?

1. Burhanpur/ dXgHYR
2. Umaria/ SARAT
3. Jhabua/ 3T
4. Vidisha/ fafgam

Correct Answer :-

« Jhabua/ HTg3(T

49) The Fair of Kaluji Maharaj is held in the region of - / W@ﬂﬂ%’mﬁrﬁﬁm
Di4- 9 & o maifora frar a1 82

1. Malwa/ HIddl
2. East Nimar/q\?fﬁ'ﬁﬂg
3. West Nimar/ Uf&# FHHS

4. Bundelkhand/ §qags

Correct Answer :-

« West Nimar/ Ufgq fRurs

50) In which year were the Gundecha Brothers awarded Padmashree?/ IEl

4 ¥ 7= Y 1 vt REeR A g foar mn ur?
1.2014
2.2012
3.2015
4,2013



Correct Answer :-

« 2012

51) In which district is the ‘Shree Singaji Thermal Power Project’ located?/

<oft RiTTSit a1y fasel Ta= uRaer feg e & fRa g2
1. Shahdol/ &S

2. Khandwa/ Tsdl

3. Burhanpur/ §XgMYR
4, Rewa/ 3idT

Correct Answer :-

« Khandwa/ g&dl

52) In which state is the Sahayadri Tiger reserve situated?/ GgdIls 919 RI&a
A fraasadfREe?

1. Maharashtra/ HERTY
2. Odisha/ SIS

3. Karnataka/ao_—lw
4, Tamil Nadu/ dierg

Correct Answer :-

- Maharashtra/ HERTY

53) The area of a sector of a circle of radius 5 cm, formed by an arc of length

3.5 cm is:/ 5 I 31 9 990 & Bcudis &1 &awd 919 &9, S 3.5 I 918 arel 1Y gRT
f~fefa forar mam g1

1. 7.50 cm?/7.50 94U
2. 8.5 cm?/8.5 I

3.7.75 cm? /7.75 qE?
4. 8.75 cm?/8.75 4412

Correct Answer :-

. 8.75 cm?/8.75 TH12



54) In a mixture of 60 liters, the ratio of milk and water is 2 : 1 respectively.
How much more water must be added to make its ratio 1 : 2 respectively?/60

dtex frgror & g 3R U &7 SguTd HHRT: 2 : 1 71 fhae ik sifafaa urit framen sime aifes
SIUTd SHRI: 1 : 2 B 91T?

1. 60 litres/60 e
2. 40 liters/40 e
3. 54 litres/54 e

4, 52 litres/52 e

Correct Answer :-

. 60 litres/60 Tex

55) Roy walks 2 km to East, then turns North-West and walks 3 km. Then he
turns South and walks 5 km. Then again he turns West and walks 2 km.
Finally he turns North and walks 6 km. In which direction, is he from the
starting point? /314 2 f&t ©d ot 3R Tarar 8, fhR So=-ufdm ¥ g irar @ 8fiR 3 foedt <reran
21 bR 2féor Y 3fik gev 5 et =eran 21 98 fbs uf3m 9t ik gear @ o 2 fph wreran 21
3faa: 98 I B 3R GSHR 6 fH Taar § | 98 oA v fog A frafazmd 21

1. North-West/ItR-UfgH
2. South-West/gl&mr-ufgm
3. South-East/E{f\&FUT-EL?lf

4, North—East/B?lT-tl,_ﬁc

Correct Answer :-
« North-West/3R-uig¥q

56) A 120 m long train takes 10 seconds to cross a man standing on a platform. What is the speed of

the train (in m/sec)?/120 ﬁamﬁwmﬁmﬁwmwﬁﬁwmﬁﬁ 10
TPUS ST AT Ad! 81 YS! B =me (+HL/A. F)FTd B

1. 20
2. 15
3.12

4. 10

Correct Answer :-



DIRECTIONS: Select the pair in which the words are differently related./
fFrd=T: 39 g7 &1 999 & forad v R Fu A waEfta g

1. Hard : Stone/?:b_cﬁT:W
2. Gentle : Tender/ I&IH : HIHA
3. Soft : Wool/ HallgH : &

4. Smooth : Glass / I : ®ig

Correct Answer :-

. Gentle : Tender/ I : A

58) An artificial satellite can be tracked very precisely from the earth by

using?/ U HAH IUUT B Yl A 959 35t a¥e | Sieq & fore fordept Sua far wiran 3
1. Zeeman effect/ SIHA THTd

2. Sonar/ MR

3. Doppler effect/ SI@R UHTd

4, Radar/ Y8R

Correct Answer :-

« Doppler effect/ SIER JHTd

59) Sound cannot travel through?/ af f&a TI@ A 7fa 78 H THal:
1. Vacuum/ fRaia

2. Steel/ &d

3. Hydrogen gas/ EE@T:F[%

4, Water/ old

Correct Answer :-

« Vacuum/ fRata

60) The most commonly used metal in domestic appliances is?/ Wmﬁﬁ
AT SR STg STTRT Hi AT &2

1. Iron/ FﬁET
2. Platinum/ W9

3. Zinc/ Sl

4, Aluminum/ TegHi-aa



Correct Answer :-

« Aluminum/ TeGH=aq

61) The metal that finds use in electro-magnet is?/ fagad ga® o urs o= areil
ST T B At &

1. Zinc/ Ol

2. Soft iron/ :ITHF%T
3. Copper/ didl

4, Chromium/ SIHaH

Correct Answer :-

« Soft iron/ TH AT

62) Human T-cell leukemia virus (HTLV-III) is known to cause?/ gqmré’r

AgH AT HIRST fauTo] Hi= IV ST B APl 2
1. Blood cancer/ SR P INT

2. AIDS/ TSH

3. Cerebral haemorrhage/ RS gAY

4. Hepatitis/ gUcrsicd

Correct Answer :-

« Blood cancer/ S8R &b T

63) From the given alternative words, select the word which cannot be

formed using the letters of the given word:/ ﬁqﬁr@aﬁw’fﬁﬁﬁwgﬁqsﬁ
Uy ¥ AU 7T R(sg & 3M&R] BT YART HRb 8] ST I Jhll:

PRONOUNCEMENT
1. PAVEMENT

2. NOUN

3. CEMENT

4, MOUNT

Correct Answer :-

« PAVEMENT



64) A man invests Rs.2000 at 5% compound interest. At the end of 3 years

he will get a total amount of: /T® R 2000 TUY 5% TP Th gl TS PI T I
= wear g1 99 o 91g 3/ Fa e v+ fram?

1. Rs.2305
2. Rs.2316.25
3. Rs.2315.25

4, Rs.2205

Correct Answer :-

+ Rs.2315.25

65) In countries where polished rice is the main cereal in their diet, people
suffer from?/ a 31 o uiferad@mT foaed 1) e g1 sFe & afffea sl g a1 &
TN P DI TR B TPl &

1. Osteomalacia/ fe3iHafRmEn
2. Pellagra/ e

3. Scurvy/ wHdl

4. Beri-beri/ sRI-sRt

Correct Answer :-

. Beri-beri/ s3l-s3

66) If A: B = 2: 1 and A: C = 1:3, then A: B: Cis:/a4f¢A: B = 2: 1 3[R A: C = 1:3
Bl,dl A:B:C T 8INI?

1.1:5:6
221:3:2
3.2:1:6
4.3:2:1

Correct Answer :-

67) Anaemia occurs due to the lack of?/ 3Rl fPae! Hal A g1 areT AT &
1. Calcium/ HIQEIH

2. Iron/ dlgl

3. Iodine/ 3MAIfST



4. Potassium; TIcRIgH

Correct Answer :-

« Iron/ ?ﬁ’tﬂ

68) By selling a table for Rs.350 instead of Rs.400, loss percent increases by
5%. The cost price of table is:/T& S &I 400 U § 91 & I91F 350 T |
T W ufa=rd g1 5% 9 Sl 8, @ A &1 arTd 9 71 B3

1. Rs.417
2. Rs.1050
3. Rs.435

4. Rs.1,000

Correct Answer :-

69) Conversion of excess amino acid into urea takes place in?/3if%& 3

3t o1 T § uRad= Fl giaT 8
1. Skin/ ol

2. Intestine/ 31d

3. Kidney/ ga

4, Liver/ 9d

Correct Answer :-

« Liver/ dod

70) DIRECTIONS: In the following question, select the related
letter/word/number from the given alternatives. /e A=y g & faw o
fawel 4 O TEfa S&R/RIeE/SI &I U]

15 11 7
7 9 12
8 6 ?

840 |594 |420

1.5
2. 60



3.9

4.70

Correct Answer :-

71) DIRECTIONS: Study the following information and answer the questions

given: /e & T3S MR #) eAFYd® Ue ok e fw e U=l & IwR <

Six persons P, Q, R, S, T and U are sitting in a circle facing one another front
to front. P is sitting in front of Q. Q is sitting to the right of T and left of R. P
is to the left of U and right of S. / B: A& P, Q, R, S, T 3N U T ga A 9 & auT
AT TS g B MR JEFRP 468 | P, Q F AR ISTR | Q, T F S ISTR AUTR
FIAISTIZ| P, U ST IUTS $ S AT E |

Who is sitting opposite to S?/ S & fAuid FIT 93182
1. T
2. U
3.R

4. Cannot be determined /JTd gl foU ST Tl &

Correct Answer :-
o T

72) Price of sugar rises by 20%. By how much percent should the
consumption of sugar be reduced, so that the expenditure does not

change? /1t & gea & 20% F gfF g 91l 7, A ot Tua &) fvam wfa=ra &0 s
g, dTfs At IR W Suiafad 38?2

1. 16.66%

2. 20%

3.15%

4.10%

Correct Answer :-
+ 16.66%

73) Water stored in earthenware cools because?/ Ac® & 3ig¥ TRferd oI ST gl
T T2

1. Water oozing out of the pores evaporates/ 3¢ f5al § 5d a1 g1 a1 &



2. Earthenware is a good radiator of heat/ Hehl ST BT 33T fAfHRr Har §
3. Earthenware absorbs heat from water/ Fchl SIdl b 3T B IR B Adl &

4. Earthenware has high heat capacity/ Hed @1 3T YRUT &HdT 3P Bl &

Correct Answer :-

. Water oozing out of the pores evaporates/ B¢ &l J od IS 81 ST &

74) A prokaryote is?/ T& Wb RAC 8?2

1. The most primitive multicellular organism/ J&Y YT gHIRIG Sild
2. A hard fruit/ Ud Hsh b

3. An organism lacking membrane bound nucleus in its cells/ T Siid for ! HIRGTH
frett 2fga S ura ST §

4, A multi-celled organism/ §geIRIPIT Siig

Correct Answer :-

« An organism lacking membrane bound nucleus in its cells/ T& Siid forIe! BT H
fareeht fea Faw urn SraT €

75) Five years ago, the ages of Bali and Geeta were in the ratio of 3: 4
respectively. Ten years hence the respective ratio of their ages will be 6: 7.
What is the difference between their present ages? /Ui 94 Ugd, drail 3% T
DI TG HAR: 3:4 B JUTd d N1 G I9 971G, IAPT Y BT SJUTA HA: 6:7 TR JADT
AU g | SR |82

1.7
2.2
3.5

4,10

Correct Answer :-

76) The HCF and LCM of two numbers are 12 and 72 respectively. If the sum
of the two numbers is 60, then one of the two humbers will be:/ a’rﬂ'@raﬁm
H. 9. 3R d. 9. HH: 12 3R 72 g1 gl 1 G=Imai &1 31 60 &, @ S Iarsii § ue
T2 B

1.72

2. 60



3.24
4. 12

Correct Answer :-

e 24

77) Which of the following cell organelles is involved in respiration?/ Ffada

DI AT DIRIBIT Y § YT Al 6
1. Nucleus/ %g®

2. Chloroplast/ FIRIEIRE

3. Mitochondria/ ArEcIbIal

4. Ribosome/ 34

Correct Answer :-

« Mitochondria/ Iﬂ%‘@lﬁ%m

78) Which of the following electromagnetic waves has the longest

wavelength?/ 0 ¥ 9 fr fagaa gaoia @ &1 axndd et 3iftre gian §:
1. Gamma rays/ T fhrul

2. Light rays/ gl {0l

3. Ultra-violet/ TRI-&7Fit

4. Infra-red,/ 3faxad fH ol

Correct Answer :-

e Infra-red/ 3fARad fheui

79) Sweat contains?/ WU H gla1 82
1. Pure water/ Y& Sicl

2. Phosphoric acid/ BR®BIR® 3

3. Calcium phosphate and water/ HIRITH BRbE a4l 5d

4, Water, salt and waste matter/ Sicl, TqUl T 3Ty gar

Correct Answer :-

. Water, salt and waste matter/ SId, TGUT dYT ARV T



80) Arrange the words given below in a meaningful sequence./ T feT 7T 3=}
o1 3rfqut v o afeyd S|

1. Doctor/ ffeca®

2. Fever/ 9@}

3. Prescribe/ fgzM

4. Diagnose/ I 1 Aok
5. Medicine/ &aTs
1.2,4,3,5,1
2.1,4,3,2,5
3.2,1,4,3,5
4.2,1,3,4,5

Correct Answer :-

81) Some fungi have been found to cause diseases in man. Which of the
following do you think is one such?/ Sgd IR $d® A A AT ITA P &, Fad
PITHT Hab IV IUT B IHdl 82

1. Rhizopus/ J3Slqd
2. Puccinia/ G&if=dr

3. Aspergillus/ TEfolery
4, Agaricus/ SAINHY

Correct Answer :-

« Aspergillus/ TEfolery

82) Which planets do not have satellites revolving around them?/ ﬁ'ﬁﬁ'ﬁﬁq
T g € % IR 3R B IUUE IIPH? T8 T &

1. Mercury and Venus/ Y 4T Y[h
2. Mars and Mercury/ TTd 3R g4
3. Mars and Venus/ T7d 3iRR Y[H

4. Neptune and Venus/ 31507 3R Y

Correct Answer :-

« Mercury and Venus/ Y T [



83) Which letter will replace (2)? /19 | 3(&R (?) P UfARITTUT B2

Raiales

3.S

4.T

Correct Answer :-

e T

84) In which of the following is sex determined by environment?/ fada

oo graraRer & ergaR o iR gar 82
1. Maize/ HdhI

2. Papaya/ gyidr

3. Bonnelia/ SHferm

4. Honeybee/ Hﬂﬂa‘@ﬂ

Correct Answer :-

. Bonnelia/ SAfern

85) A balanced fertilizer for plants is?/ UIgU & ¢ Iugad Taq Ygferd IdP HidT
Eﬁ?ﬂ%

1. Urea/ g(al

2. Compost/ f%d @rg

3. Super phosphate of lime/ @WWWW
4, Ammonium sulphate/ 3AIHTH Tethe

Correct Answer :-
« Compost/ if%d @re
86) Which one of the following is a false fruit?/ =% & 9 $I-H1 U& 3T B §:

1. Watermelon/ dxdsl



2. Cherry/ ERil
3. Apple/ 99
4, Lemon/ g

Correct Answer :-

« Apple/ EEl

87) A fan is listed at Rs. 150 and a discount of 20% is given. Then the selling
price is:/ T&H U0 W 150 ¥ Yoo Sifdrd fpar 7am 3k 20% ot ge i 713, a@f Rsva gra =
ghT?

1. Rs.150
2.Rs.110
3. Rs.180

4. Rs.120

Correct Answer :-

¢ Rs.120

88) In cactus, the spines are the modified:/%ded ARG & T H Hic fogeT
FUTRUT BIdT 3

1. Fruit/ ®d

2. Stem/ 4l

3. Leaves/ Ufal
4, Buds/ ierr

Correct Answer :-

« Leaves/ T/l

89) The purest form of water is?/ @ BT TG Y[GaH YHR DI gIT o:
1. Sea water/ “\:Iﬂfffrlﬂ

2. Distilled water/ 3I{d Sicl

3. Tap water/ EEERIR

4, Rain water/ CRIECARTIE]

Correct Answer :-

« Distilled water/ 3Id Sl



90) Palaeontology is the study of?/ UdcIdiol fraeT g g1 82
1. Bones/ 3ifaf

2. Primates/ UIgHE

3. Fossils/ SitarRd

4, Birds/ Tefl

Correct Answer :-

« Fossils/ Sty

91) In the given figure, if ZABC = 90°, and 2A = 30°, then 2ACD=?/fRT ¢ A
A ufg LABC = 90°, 9T 2A = 30°, dl zACD =?

A
30

B c [
1.120°
2.110°
3.130°
4, 100°

Correct Answer :-

« 120°

92) A man pointing to a photograph says, “'The lady in the photograph is my
nephew’s maternal grandmother.’”” How is the lady in the photograph related
to the man’s sister who has no other sister?/ meﬁ?ﬁ &ﬁTS'EZTRT
A U Bl ¢, "TER A S Afgen & @ A HdS B A B 1 TR A S el € 98 39
3TeHY B 981 | fFT TR TWEiE § R 918 3R 789 181 872

1. Mother-in-law/ Irg

2. Sister-in-law/ Fg/HTH
3. Mother/ |

4, Cousin/ B

Correct Answer :-

. Mother/ﬁf



93) The atmosphere exerts enormous pressure on us. But we do not feel it

because?/ IIYHSH AR HUR AATUP ST STedT & 1< ot g1 Wegd =g 71 gla:

1. The surface area of our head is very small/ SR IR &1 J§1T &%d 9gd HH gId &

2. Our bones are very strong and with stand this pressure/ Eﬂﬁ&wﬁm%ﬁﬂ\?@ﬁfﬂ?ﬂ%
39 T19 $I I PR Al §

3. Our blood exerts a pressure slightly more than that of the atmosphere/ THRI A
dd ARHSHTY GaTd 3 el T SfiH gidl o

4. We are used to it/ 81 3P 3 81 b &

Correct Answer :-

« Our blood exerts a pressure slightly more than that of the atmosphere/ THRI Xadd
SIS dRHS TaTs I b AT e gidl o

94) The effective radius of atom is?/ T® TRHTY $t YHTE Hsar fea- gl &
1.10°® m/1076

2.10 14 m/10714

3.10 10 m/10710 4

4.10 15 my107154

Correct Answer :-

e 1010 m/10710 4}

95) 1
The simple interest on a sum after 4 years is > of the sum. The rate of
1

interest per annum is: /A IR TR 4 IO HT ATURVT ST, I I T 5 2, o 71 2 &
1. 4%
2. 6%
3.5%

4. 8%

Correct Answer :-

96) Two numbers are in ratio of 5 : 8, If their difference is 48, then the
smaller number is: /< TBATHT HT SAJUTT 5 : 8 T 3R ITHT 3R 48 8, A DIt W=



gard|
1. 64
2. 80
3.96
4,128

Correct Answer :-

97) The main use of ‘magnesia’ is as a/an?/ mmwmmﬁm%‘?
1. Antibiotic/ Ufaaifas®

2. Pain killer/ &g MaR®

3. Antiseptic/ W%

4. Mild laxative/ gebl Xad SIS

Correct Answer :-

« Mild laxative/ WW@W@[

98) The main active constituent of tea and coffee is?/ irrqaamﬂﬁg'@azaﬁqm
afthd aed UTaT ST §:

1. Aspirin/ TIUIRA

2. Nicotine/ AopifeT

3. Chlorophyll/ aRIfthd
4. Caffeine/ ®ith

Correct Answer :-

. Caffeine/ &ftha

99) 0.2 +0.2-0.27 0.2x(0.2x0.2) = ?
1. 0.36

2.1

3.0.2

4,0.04

Correct Answer :-



100) L2 2 -
The fractions 3, 7 and ° written in ascending order given by:/3, 7 3R 5B GfR.']ﬁ P ford?
1, T<3<E
2 21
2.5<7<3
1os 2
3.3<7<5
12 ¢
4,3<5<7

Correct Answer :-

w | =
| ra

A
=3 | ufs



